Honors Calculus II: Spring 2007
Exam 3

Name:

1.[10pts.| ; Deterrmne whether the improper integral / a:e = dx converges or diverges. If

it converges, find thevalue to which it converges
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2.[12pts.] Decide whether each of the following sequences converges or diverges. If a
sequence converges, find its limit.
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3.[32pts.]
conditionally, or diverges.
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Decide whether each of the following series converges absolutely, converges
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4.[15pts.]  (a) Use the binomial series to expand f(z) = (1 + 2z)%* as a Maclaurin series
and to find the first three Taylor polynomials T3, T3, and T3. (b) Use Taylor’s Inequality
(Ta.ylor ] RJemainder Theorem) to estimate the error when using T3 to approximate f(z) at
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5.[13pts.] Use a power series to approximate /
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dz with an error less than 1x10~7.
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6.[13pts.] Find the center, the interval, and the radius of convergence for the power series
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7.]5pts.] Find the sum of the series Z 3
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